30

5 10 15 20 25
track dxy (cm)

20
track dz (cm)

=25-20-15-10 -5

0.

[N of associated (recoToSim) tracks vs dxy ]

[N of associated (recoToSim) tracks vs dz_]

=
2 3 S
H 2
£ ¥
£ o £ o
5 5
g o) g
2 I ° o
£ o £ Al
s -{= [} [l
2 | e
'S L S
17 g I
E BT i
I} | g
e O ° o
H IN 2 i
8 1 s I
5 c 5 5
= | syoen sreoydnp H z
0 _ o
N o
E £
QL
> o
= g Y
o — ~
¥ o
3 =
= =
= Lo
= o o
L Lo
7 ] — e
1 o iy
r - H !
3 Lo H
] i " o
J | Rk N
E I~ . 1
r o H
E 0 H I3
- ) = o
5 5
H
Q= 5]
£
IS
[~ o
LD N
— O
3
o
— © o
=3 —
LD
o o

30

N of reco track vs dxy

syoer™

syoen

S\Il
N
£
o O
S
= o
1o I
— O
3
=)
SR
5 K
o
o o
o
S b
0
2
Il o
g Iy
(=}
3
: 3
5 5 3
Z o

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


